Tank wagons: volume
g(v)=av+b

[a]=v?  [o]=v"

(See a better formulation in the end.)

G(v)=[ (at +b)dt = Btz " bt}v

=%(v2 ~v2)+b(v-v, )
(This might advantageously become
6= | 3+ +b|v-v.)
and so on, confirming that, for v=v,itisG=0.)

a, a
G(v) :EVZ _EVE +bv-by, =

=%v2+bv ( v +va)

G(v)=%v2+bv ( v +va)
a a
EVS +bv,, —(Evf +va) =1

208 -ve) bl v )=1

b= - Z(v, +vy)
vy-v, 200
p= 1+ -2
Av 2
b+avL:——%Zv av, =—-—(v,_ +v,)+av, =
=1.,8, .8,
Av 2 27
b+avL———§A
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z(gjv =-b+ b’ + 4E[EVE +hbv, + Gj
2 2\ 2

2
av:—bi\/b2+4a—vf +4§bvL +48G =
4 2 2

= —b /b +2bay, +(av, }? +2aG

av=-b+,/b” + 2bay, +(av, * +2aG

av=-b+(b+av, )’ +2aG

2
av=-b+ [i—EAvj +2aG =
Av 2

= —b+\/ﬁ—a+(gj2(Av)2 +2aG

Av
2
av=—i+§Zv+ i—EAV + 2aG
Av 2 Av 2
Verify:
G=0
av:—i+gz +(i—EAvj:EZVL =av,
Av 2 Av 2
G=1
av:—i+EZv+(i+EAvj:§2vU =av,
Av 2 Av 2 2

A better formulation would possibly be (dimensionless style)
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